OB R % MER TR RRIE RS (MSA) 7R A (e f&3hHA)2019.3

o 3 =R > 1= A
Beige I 5t ARG o B (MSA) AR s i b iy 2
Aomox oW BER HF O
(L ARG R BRITIE A A, I KB 044502
2. KB RALA PR R, LG ACBE 044502)

W OE ORCRBEE AR ETEOAARR, RRFHIER L AT R, AN T
ARBASF ARG ERNR LY BREGFMERBE (A IRH) P ER
Eb2— S5ACHAZTRAANR, MNENF SR EOY ik T AL B F, K RAEATF LA
BRARNAILRATH . A, BRAMF RN T &, RATHE R LA, RAME RN, X

AW E AR RIER, R T ELEAZRELRGLEZI,

X@A  FRAE

0 58

AESCEICHA T B RGeS BT
FENASE RN A T H BRI, 4 T 50
MERG TR 7EHESRM b ORI RS0
B RL AR S SE PR BB A R R, XN B R U E
RS HEBETIE , Bl E RS AEETT o

1 MERZESHEILER

M & & 55 43§71 ( Measurement Systems Analysis,
55 MSA) , E TGN E RGN &, BlidE
BN AR RY 5B R GE T H R T 1 2R 43 i A 5
BRET RSN EZTE LB T & 45 R 1%
el , AT} 2 L PF N B R G 97K, FEARIE T
FISRHER AT B RGE AT G 1, 2Pl & RS2
BRI A . R MNESES, WEA R 2
TR R AR RV E RS AN 2 PR A B — I &
ARG, ME AL BB IR SRR AT
BRI R I B 46 2R AR 220k IR, AT
FILR Bl & 58 B K EEE R

Wi

e

B R RS
2 MERZITHARAE

TR GE R GE R R R A e R

P EREMEIRNE 5 MERRIES . /T3 R

R INE R TE; 5 2 ERH TR
.52

MERESN @BRERE

TR GRS A v P T 5 X
BB HOR /A E RS BRI ; T B R SE RS
PECBVE R PR B , # S 2 R e 22, BEAL
WRE TN 22 2 B B E R 1 WA RS
YA 22 fin LB\ B SAEAR S B R BRI 22 I
B B IE. AU XA RO T R 4R,
SRR T 04, X B R E BRI
PEHATIHE , IR B REHIRES

3 MERFEH T FEE

MSA F% GRR ( Gauge Repeatability and Repro-
ducibility, f& 7% GRR) kB FE M AT B REMER
PRI, Bt trimfean T -

T
R

whnn

W W

Wika il
Wil | i

By

2 ERGIHTIEE

(1) BrFs s

REZHEAT, T xR R (W EA R &
B KPR SRR AL AN BT ) &R
il A B R &R R AL 2 HA (WER
LR/ ROE, k) SR 7 A AT IR TG 30



f R W OER W R IRRIE RS (MSA) 75 R o (a3 AR)2019. 3
(2) B i se BRI, WA, T AV,

P o DNRAEE X kAR R AT E X
AP RERE LW m KB AT ISR n xk
x m MR
(3) MR BRI R & R Ge 5 #r
QEEM(EV)IHE
1 — AR SR R — Rl B4 , 2 &
[F] — A Y [l — AR P I 3RS T B (E AR 2R B B
MEE M, WAREREME, I EV,
B AR A B R S R B S B R
BAENES U ERNRERN 2N,
EV=0,;
o, =R/d;

n

SR,

E_i:l
n

R, : FABNBANFHEZNE m KAKZERFRIE;
n: BAEANRHE .

dy BURTFIMERE (m = W ERE) KF 5
ERUBIEAL (g =FHHE k x BIEAT ) B
— I SHE, ARG,

QFEIME(AV) HE

1A [l AR 3 R AR TR U B A AR, T B R —F
14 R — R P e 2RAS B T BB PR P S R AR 225

— AN RS I , R R R
BAR LA ERER (AWEZ) 51525
B,

AV=0,;
R,
g;
R, B, HIMR 2,

dy BT IR AR (m = 8 AL RAREA
B(g=1)M—NSHEME, EREE .,

@R Z [ (2525 (PV) 8

FERE IR 52 18] S 75 22 1, 3 2 31 2 B 7
T IR E, BRI AR (PV) F
BRI R THERAR LML, tif
RIS R P Eh

PV=0;,;
R,
Op= E;
Ry RBMTFIME (x,) M2

dy BORT R BE (m = B0 880 BB EA
B(g=1)—SEME, TEREE,

(4)d; BER(MTFHE 1)

gy =

£1OMEE
g/m 2 3 4 5 6 7 8 9 10 11 12 13 14
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2 100.41 99.32 101.17 100.50 99.08 99.89 100.25 99.80 101.99 98.35
A 3 100.64 99.42 101.27 100.64 99.16 99.99 100.16 99.83 102.01 98.39
B 100.45 99.30 101.26 100.54 99.15 99.97 100.20 99.77 102.09 98.36 =, =100.117
Wz 035 012 017 0.17 0.12 0.13 0.09 0.14 0.27 0.05  0.16
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1 100.04 98.62 100.88 100.34 98.89 99.71 100.02 99.74 101.97 98.31
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